S - aAd
S - bAe
A-c

S’ -0 S$

S'>50%
S > S%o
S —oaAd
S—>ao0Ad
S—>aldod
S = aAd »
S —o bAe
S = bode
S —>bAoe
S — bAe o
A —oc

A—-co
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1

1II2IVD HNIN

(1)

S PYTPTN M (@)

;90 1119 LR(0) parser 1on9 ,S' — §$ :5950 nX pry1pTo 9oom

Go to

State o T [ c ] d]e S [s5][s]a
0 s2 | s3 - - - - - s1 -
1 - - - - - s4 - - -
2 - - s6 - - - - - s5
3 - - s6 - - - - - s7
4 rS' - S$ (accept)
s | -[-1-[Ts8] -[-1-1-71-
6 rA - c
7 -1 -T-T-Ts9]-[]T-7T-7-
8 rA - aAd
9 rA — bAe

55
Azahd.

Se

=9
A--=bhe.




S - aAd
S — aBe
S — bAe
S - bBd
A-c
B-c

<G’ PYIPTN NI NYa (b)

9y reduce-reduce conflict Ywn5 5931 LR (0) 1R PyTpTN .D0RY9NP %91 Tryw 1Y Mpna Tnon Xnw 1o LR (1) py1pT X0 My py1pT

M2y YwnY ,Pavn N9 1191 non-terminals-n Yv follow-sets 5y MmYsnonw N5 SLR(1) nvnd 5199 X9 X0 12 13 A = ¢, B = ¢ opinn

191 DN reduce-reduce conflict ©92pn 190 WX 03 PN LALR (1) 19N 1110 , 91929 (0w B-Y A v follow-sets-n 12v) XNNT NMIN

B> co{d,e}-vA - cof{d, e} 9on a sn vpvanpn —B o ce{d}oyB s> co{d} 1A —> co{d}oyA - co{e} nx DTNND

.oxnnn LR (1) parser-n m»ya120>n NN MXIY 110 NI 9yoa

90 G' py1p19 LR(1) parser \5nb (c)

Go to
State

al|b| ¢ d e $ S| S| A|B
0 s2 | s3 - - - - - | s1| - -
1 - - - - - s4 - - - -
2 . - | s7 - - - - - | s5 1 s6
3 - - | s10 - - - - - | s8 | s9
4 - - - - - r§' — S$ (accept) | - N
5 - - - s11 - - - - - -
6 - - - - s12 - - - - -
7 - - - rd—c rB-c - - - - -
8 - - - - 513 - - - - -
9 - - - s14 - - - - - -
10 - - - rB—-c¢ rA—>c - - - - -
11 - - - - - rS — aAd - - - -
12 - - - - - rS — aBe - - - -
13 - - - - - rS — bAe - - - -
14 - - - - - rS — bBd - - - -

NI TINY VDIVIND VIVIY



S -0 S${}
S-S $(3
S' > S$o {3

S —o aAd{$}
S > aoAd{$}
S > adAod{$}
S - aAd o {$}
S —o aBe{$}
S - ao Be{$}
S > aB o e{$}
S - aBe o {$}
S —o bAe{$}
S > boAe{$}
S > bAce{$}
S - bAe o {$}
S —o bBd{$}
S — bo Bd{$}
S — bB o d{$}
S > bBd * {$}
A —o c{d}

A - co{d}

A —o c{e}

A - cof{e}

B —o c{d}

B - co{d}

B —o c{e}

B - co{e}

Sah A
S=h BoE]
A fa}
B ofd}

3 .
i .
N1
A il
B
SE6
£
S-->aE &{F}

[
A
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il
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()
:"bed" NN MY NP MITO YNY
Stack Input Action
So bcd$ Shift
Sobss cd$ Shift
Sobs3csqg d$ Reduce by B = c{d}
Sobs3Bsg d$ Shift
Sobs3BSqds s $ Reduce by S - bBd{$}
50551 $ Shift
5055,%s, Reduce by S' > S$
505’ Accept
:"abcd" N9 MY NP NITO YD
Stack | Input Action
Sg abcd$ Shift
50as, bcd$ Reject (no legitimate rule)

(2)

(a)
N2 PYTRTN )M

S->B
B—->B&B
B—->B|B
B - B"B
B - ~B
B-t
B-f
ay shift reduce conflict YN 01792 TNRY IR NI PITPTY DVPIIAMNP 990 PITPTIY DIVHD NRN YW 121105 LR (0) py1pT 11 ypom
My ,ownd .B = B& o B 9onn a8nY & i Yy shift »v 18m S = B-Y reduce n»nY 1NN TN T80 B = B o &B-1S — B o %onn a3nn
2N VPPN NN DAP) t&t VOPN
(b)
:DNMN NMNYTPN NNN,NOY NNIN NN YAPNN WIN PITRT YW NN oD
S->S|U|U (that is "S|U" or "U")
u-ure|e
Q - Q&R|R
R—>~R|t|f

(c)

DNN WTY NIt IN0IP DK : E|f vOPN Yy bwny shift-reduce conflicts 5931 LR(0) nvno 912 N py1p1n SLR(1) py1pT N Ny p1pT
VPP 7|7 NIN INN NN NP T3 shift yxao N (PR PInv S’ - S$ 5w navinn oy) Yapn S - U —» Q —» R — t reduce n1T0 yxay
W SLR(1) € LALR(1) € LR(1)-w 1115v 12105 .NIN §YDI DMLINI MINIY 7P JIY 195 ,)1TPTa DINK DXPIN DY D) Yapnns 915 M
.LALR(1),LR(1) oy X0 Ny pYyT1pT

(d
: PYTPT2 non-terminals-n 5V follow-sets-n Yon9 .SLR(1) parser man S’ — §$ 9550 nx ;1p79 Pom
follow(S") = {}
follow(S) = {|,$}

follow(U) = {*,,$}
follow(Q) = {&",|,$}
follow(R) = {&",],$}



: WD

(e)

state Go to
t | f | ~ & A | $ sS[sTuTl o R
0 s6 | s7 | s5 - - - - - s1 s2 s3 s4
1 - - - - - s8 s15 - - - - -
2 - - - - s9 rS—->U rS—->U - - - - -
3 - - - s10 rU - Q rU - Q rU - Q - - - - -
4 - - - rQ > R rQ > R rQ > R rQ > R - - - - -
5 s6 | s7 | s5 - - - - - - - - s11
6 - - - TRt TRt TRt TRt - - - - -
7 - - - TR- f TR- f TR- f TR-> f - - - - -
8 s6 | s7 | s5 - - - - - - s12 s3 s4
9 s6 | s7 | s5 - - - - - - - s13 s4
10 s6 | s7 | s5 - - - - - - - - s14
11 - - - TR - ~R TR - ~R TR - ~R TR - ~R - - - - -
12 - - - - s9 rS - S|U rS - S|U - - - - -
13 - - - s10 rU - U"Q rU - U"Q rU - U"Q - - - - -
14 - - - rQ > Q&R | rQ - Q&R | rQ - Q&R | rQ — Q&R - - - - -
15 rS' — S$ (accept)
N2 TINY 9NN VMVINAD VIVIY
&AM N9MIN MY NP NITO PY S~ t&S | NN MY NP NITO PND
Stack Input Action Stack Input Action
So t|t&f t$ Shift So ~t&f|f"$ Shift
SotSe [t&f"t$ ReducebyR > t So~Ssg t&f1f"$ Shift
SoRs, [t&f t$ Reduceby Q - R So~SstSg &fIf"$ Reduce by R - t
50053 [t&f"t$ Reduce by U = Q So~SsRsy, &f1f"$ Reduce by R - ~R
soUs, [t&f"t$ Reduce by S - U SoRs, &fIf"$ Reduce by Q = R
5055, [t&f t$ Shift SoQs3 &f1f"$ Shift
5055185 t&f t$ Shift SoQ53&s10 fIf°$ Shift
50551 |Sgtse & t$ Reduce by R —> t 50Q53&S10f 57 If$ ReducebyR > f
S0SS1|SgRS, &f"t$ Reduce by Q = R S0Q53&S19RS14 [f$ Reduce by Q = Q&R
5055|5053 &f t$ Shift SoQs3 If$ Reduce by U - Q
50551 |SgQ53&S1 frt$ Shift soUs, [f°$ Reduceby S - U
50551|55053&S10f Sy ~t$ Reduce byR - f 50Ss; f$ Shift
50551 |55Q53&519RS14 ~t$ Reduce by Q - Q&R S0Ssq|Sg f"$ Shift
50551 |55Q53 t$ Reduce by U - Q S0SS1|Sgf Sy "$ ReducebyR - f
50551 |SgUsq5 t$ Shift S0SSq|SgRS, "$ Reduce by Q - R
S0SS1155Us12"5g t$ Shift S0Ss1|s5Qs3 "$ Reduce by U - Q
S0S51|SgUs 12" Sqtsg $ Reduce by R — t S0SS1155Us12 g Shift
50S51|SgUs12"SgRS, $ Reduce by Q - R 50551 |SgUs12"Sq $ Reject
50S51|55US12"59Q513 $ Reduce by U - UQ
50551155Usq, $ Reduce by S — S|U
S0SS; $ Shift
50551855 Reduce by S' - S$
50S’ Accept







